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1. (12 points) Find each limit, or explain why it does not exist.
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2. (14 points) Find the linearization L(x,y) of the function f(x,y) = y/z at (4, 1).
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3. (14 points) Find the the equation of the tangent plane to the surface (z — 1)% + 2(y — 4)? +
(2 — 3)? = 10 at the point (3,3, 5).
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4. (14 points) If z = f(z,y), where f is differentiable, and z = g(t) and y = k(t) with g(3) = 2
5. h3)=7,4(3) =5, h ( ) = —4, f2(2,7) = -8, and f,(2,7) = 6. Find £ when t = 3.
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. (14 points) Find all points (z,y) at which the direction of fastest change of the function
flz,y) =2 +y* - 22 —4dyisi+2j.
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6. (16 points) Find the local maximum and minimum values dnd saddle,
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